Mathematics

Reasoning with pattern and sequences:
Number sequence.

Independent Task

Mr Critchlow
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To Start Times table speed challenge
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M°V|ng oN  can you remember the Roman Numerals for these numbers?

48

13

Arabic Roman Arabic Roman I I n v v vi | v | ovm | i
Numeral Numeral Numeral Numeral o L L Lo 1w 1o | oon Looom | e
Xkt | oo | o | oxxav | v | oxxve | oxxvi | xxvin | xxax
100 25 XXX | XK | 0K | XXXV | XXXV | XV | kv | Xxxvin | Xxxix
xuo | oxun | o | oxov | oxv | x| x| x| oxux
u u | | wv | w | o | own | owm | oux
54 36 [ oo | oo | ooav [ oov | o [ oo | oo | oo |
DO | oo | ooan | Loav | Doy | Lo | Lo | oo | Laax | Lo
DO | LXOOKIN | L0 | LXKV | DOV | Lokvl | oot | voown | wooix | XC
xa | xan | xam | xav | xev | xewi | xevn | xevm | xax | ¢
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Main Task Can you work out the rule for each of these sequences and fill in the
missing terms?

a)86,92,98, . d) ___, 3002, 2502, 2002, g) 374,365, __, 338
b)7.7,75.73,__.__ .| |e)09, __,__.03,0.1 h 3,1, . ,-5
c)-2,-4___,-8 4. .90, . . ) 18,24
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Main Task You can see different coloured numbers. They form 5 different
sequences. Can you arrange them into increasing sequences?

36 | -6 (52|69 |76

3 |54 |12 | 62 | -8

6 | 41 | 46 | -2 | 5.6

15| &5 | O | 48 | 66

56 | 65 |48 | -4 | 9
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